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Time allowed: 20 Minutes

GENERAL MATHEMATICS SSC-II

SECTION — A (Marks 15)

NOTE: Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
' it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

(it)
(iii)
(iv)

v

(vi)

(vil)

(vili)

(ix)

(X}

(xi)

(xii)

(xiii)

{xiv)

(xv)

For Examiner’s use only:

Surds can be multiplied if they are of:

A. Same order

C. Different order

If X <0, then 4X 5X:
A. > B. =

If x-a is a factor of P(x), then P (a)=
A. Zero B 1

The number of methods td find the H.C.F are:

A. 4 B. 1
L.C.Mof 12P°¢%,8P7 is:

A 24Pq* B. 24P'g°
A quadratic equation has a degree:
A 1 B. 2

In matrices, (4B)'=

A. A7 B. B
A straight angle contains:
A 90° B. 180°

An Arc greater than semi circle is called:

A Minor Arc B. Chord
Volume of a cube with edge 'x'is:

A. x* B. 3x
Points on the axis do not he in any:
A Plane B. Line
(5, 2) lies in quadrant,
A 1st B. 2nd

a ~3ab(a-b)-b =

A a+b B. a-p
Product of two expressions=

A H.C.F B. LCM
The number of medians in a triangle is:
A 1 B. 2

B. Order ‘2’
D. Order'n’
C. <

C. -a

C. 2

C. 24Pq*
C. 3

C. B4
C. 270°

C. Major Arc

C. Quadrant

C. 3rd

C. (a+b)

C. H.C.F xL.CM

Total Marks:

Marks Obtained:
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D.

12Pg

Zero

A—IB—I

360°

Diameter

Circle

4th

(a-by

HCF+LCM

15
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GENERAL MATHEMATICS SSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=236)

H Find the value of ab + bc + ca when the values of a® +b* +¢* =81,a+b+c=11
(i) If x=2++3 then find the values of

o okl o el
X X
(iif) Factorize m® —n®

(iv) If P(x)=3x"+kx—26 is divided by x -2, find k, if remainder is zero.
() The H.C.F of two polynomials is (x+3) and their L.C.Mis x’ —7x+6. If one of the polynomiai is
(x* +2x~3) then find the other.

(vi) I x*+ &’ +mx® +12x+9 is a complete square then find the vaiues of '/' and 'm’
4 6 2 4

(viiiy  Solve by using quadratic formula x* -5x+6=0
(ix) Solve by complete square method x> ~11x-26=0

24 3 -
(x) If A=l:l 5] and BzL 2] then verify that (4 + BY = A’ + B

i) If [; i][ﬂ =!:?§:| then find 'a’ and ‘b’

12
(xif) Let M = [3 4] , then verify that MM ' =1

(xiil) i P(x)=2x'+2x*+x—1, then find P(-2).
(xivy  Resolve into factors Y* + 64

SECTION — C (Marks 24
Note: Attempt any FOUR questions. All questions carry equal marks. (4x6=24)
4 z 2

4
Q3  Simplify ——¥ 7Y X *¥
¥ =2xp+y  a(x-y) x

Q4. The sum of two positive numbers is 12 and the sum of whose squares is 80. Find the numbers.

) 4x+5y=0
Q5. Solve the equations by matrix inversion method i
2x+5y=1

Q6. Inaright angled triangle ABC,mAB =3cm,mBC = 4cm with right angle at B. Draw a circle through A, B
and C

Q7. Show that the points A(-1, 1), B(3, 2) C(7, 3) are collinear.
Q8. The length, width and height of a room are 5m, 4m, 3m respectively. Find the cost of white-washing on ali
the walls of room at the rate of Rs. 7.50 per metere square.
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